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Directions (1 to 3): Study the following information
carefully and answer the given question:

The following is an example of the input and its
reconstruction. (All numbers are two/three digit numbers)

funZs'k (1 ls 3)% fuEufyf•r tkudkfj;ksa dk è;ku ls vè;;u djsa
vkSj fn, x, ç'u dk mÙkj nsa%

fuEufyf•r buiqV vkSj mlds iqufuZekZ.k dk ,d mnkgj.k gSA (lHkh
la[;k,a nks @rhu vadksa okyh la[;k,a gSa)
Input : Waste 18 worst young 06 Best 41 covered 63 House

100 88

Step 1 : Best waste 18 worst young 06 41 covered 63 House
100 88

Step 2 : Best 06 waste 18 worst young 41 covered 63 House
100 88

Step 3 : Best 06 covered waste 18 worst young 41 63 House
100 88

Step 4 : Best 06 covered 18 waste worst young 41 63 House
100 88

Step 5 : Best 06 covered 18 house waste worst young 41 63
100 88

Step 6 : Best 06 covered 18 house 41 waste worst young 63
100 88

Step 7 : Best 06 covered 18 House 41 waste 63 worst young
100 88.

Step 8 : Best 06 covered 18 House 41 waste 63 worst 88 young
100

Step 8 is the final step of reconstructing the above input.

pj.k 8 Åij dh buiqV ds iqufuZekZ.k dk vafre pj.k gSA
1. As per the rules followed in the above steps, find the

fourth step for the input given below.

Åij ds pj.kksa esa ikyu fd, x, fu;eksa ds vuqlkj] uhps nh xbZ buiqV
ds fy, pkSFkk pj.k Kkr djsaA
Input : Near 55 pound 85 15 Tallest 01 Push gold 42

(a) Pound 15 near 01 gold 42 push tallest 55 85

(b) gold 01 near 15 pound 55 85 tallest push 42

(c) 85 55 tallest push 42 gold 01 near 15 pound

(d) push tallest 55 85 42 01 gold 15 near pound

2. How many steps will be required to complete the
reconstruction for the input given below, according to

the rules followed in the steps above.

Åij ds pj.kksa esa ikyu fd, x, fu;eksa ds vuqlkj] uhps nh xbZ buiqV
ds fy, iqufuZekZ.k dks iwjk djus ds fy, fdrus pj.kksa dh vko';drk
gksxhA
Input : Near 55 pound 85 15 Tallest 01 Push gold 42

(a) 8 (b) 4

(c) 5 (d) 7

3. According to the rules followed in the above steps, find
the word/number at the 6th position from the left in step
5 for the input given below.

Åij ds pj.kksa esa ikyu fd, x, fu;eksa ds vuqlkj] vuqlkj] uhps nh xbZ
buiqV ds fy, pj.k 5 esa ck,a ls 6oha LFkku ds @ dh 'kCn @ la[;k Kkr
djsaA
Input: Near 55 pound 85 15 Tallest 01 Push gold 42

(a) 15 (b) 55

(c) 42 (d) pound

Directions (4 to 6) : Read the following information
carefully and Answer the given questions:

The following is an example of input and its
reconfiguration.

funZs'k (4 ls 6)% fuEufyf•r tkudkjh dks è;ku ls i<+sa vkSj fn, x,
lokyksa dk tokc nsa%

fuEufyf•r buiqV vkSj mlds iqufoZU;kl dk ,d mnkgj.k gSA
Input : Peacock 3 Hen Toucan 6 7 Crow 4

Step I : Crow Peacock 3 Hen Toucan 6 7 4

Step II : Crow 4 Peacock 3 Hen Toucan 6 7

Step III : Crow 4 Hen Peacock 3 Toucan 6 7

Step IV : Crow 4 Hen 3 Peacock Toucan 6 7

Step V : Crow 4 Hen 3 Peacock 7 Toucan 6

Step V is the final rearrangement of the above input.

Step V Åij fn, x, buiqV dk vafre iqufoZU;kl gSA
4. According to the rules followed in the above steps, how

many steps will be required in rearranging the input given
below?

mi;ZqÙkQ pj.kksa esa ftu fu;eksa dk vuqlj.k fd;k x;k gS] muds vuqlkj]
uhps fn, x, buiqV ds iqufoZU;kl esa fdrus pj.kksa dh vko';drk gksxh\
Input : Zebra 8 Elephant Rabbit 5 9 Crocodile 6

(a) Five/ik¡p (b) Four/pkj
(c) Seven/lkr (d) Six/Ng

5. According to the rules followed in the above steps, which
of the alternative words/numbers given in the step in
the input given below can be at the fourth position from
the right?

mi;ZqÙkQ pj.kksa esa ftu fu;eksa dk vuqlj.k fd;k x;k gS] muds vuqlkj]
uhps fn, x, buiqV esa pj.k V esa fn, x, oSdfYid 'kCn@la[;k esa ls
dkSu&lk nk,a ls pkSFks LFkku esa gks ldrk gS\
Input : Zebra 8 Elephant Rabbit 5 9 Crocodile 6

(a) 5 (b) 8

(c) Elephant (d) Rabbit

6. According to the rules followed in the above steps, which
of the given options will be Step II for the following
inputs?

mi;ZqÙkQ pj.kksa esa ftu fu;eksa dk vuqlj.k fd;k x;k gS] muds vuqlkj]
fuEukafdr buiqV ds fy, fn, x, fodYiksa esa ls dkSu&lk pj.k II gksxk\
Input : Zebra 8 Elephant Rabbit 5 9 Crocodile 6

(a) Crocodile Elephant Zebra 9 8 Rabbit 5 6

(b) Crocodile Zebra 9 8 Elephant Rabbit 5 6

(c) Crocodile 9 Elephant 8 Zebra Rabbit 5 6
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(d) Crocodile 9 Zebra 8 Elephant Rabbit 5 6

Directions (7 to 9): Read the following information
carefully and answer the given question:

Following is an illustration of the input and its
reconfiguration. (All numbers are two digit numbers)

funZs'k (7 ls 9) % fuEufyf•r tkudkjh dks è;ku ls i<+sa vkSj fn, x,
ç'u dk mÙkj nsa%

fuEufyf•r] buiqV vkSj mlds iqufoZU;kl dk ,d fp=k.k gSA (lkjh
la[;k,a nks vadksa dh la[;k,a gSa)
Input : All flower very beauty 84 26 32 27

Case I : very All flower beauty 84 26 32 27

Case II : very All flower beauty 26 32 27 84

Case III : very flower All beauty 26 32 27 84

Case IV : very flower All beauty 26 27 32 84

Case V : very flower beauty All 26 27 32 84

Case V is the last step of reconfiguration of the above
input.

pj.k V Åij fn, x, buiqV ds iqufoZU;kl dk vafre pj.k gSA
7. According to the rules applied in the above steps, if the

input is: “92 46 Cake All best 3581 beauty 24 length”
then which step will be the output?

Åij ds pj.kksa esa ykxw fd, x, fu;eksa ds vuqlkj] vxj input% “92

46 Cake All best 35 81 beauty 24 length” gS rks dkSu lk
pj.k vkmViqV gksxk\
(a) 8 (b) 6

(c) 5 (d) 7

8. As per the rules applied in the above steps, which word/
number will come sixth from the left end in Case VII of the
input given below?

Åij ds pj.kksa esa ykxw fd, x, fu;eksa ds vuqlkj] uhps fn, x, buiqV
ds pj.k VII esa dkSu&lk 'kCn @ la[;k ck,a Nksj ls NBsa LFkku ij
vk,xk @vk,xh\
Input : 92 46 Cake All best 35 81 beauty 24 length.

(a) 81 (b) 35

(c) Beauty (d) Best

9. As per the rules applied in the above steps, which option
will be Case VIII for the input given below?

Åij ds pj.kksa esa ykxw fd, x, fu;eksa ds vuqlkj] uhps fn, x, buiqV
ds fy, dkSu&lk fodYi pj.k VIII gksxk\
Input : 92 46 Cake All best 35 81 beauty 24 length.

(a) Length Cake Best Beauty All 24 35 46 81 92

(b) Length Cake Beauty Best All 35 24 46 81 92

(c) Length Cake Beauty All Best 35 24 46 81 92

(d) Length Cake Beauty 46 All Best 35 24 81 92

Directions (10 to 12): Study the following information
carefully and answer the given question:

Following is an example of the input and its
reconfiguration. (The numbers, wherever they appear, are two-

digit numbers)

funZs'k (10 ls 12)% fuEufyf•r tkudkjh dk è;ku ls vè;;u djsa
vkSj fn, x, loky dk tokc nsa%

fuEufyf•r buiqV vkSj mlds iqufoZU;kl dk ,d mnkgj.k gSA (la[;k,a]
tgka Hkh os fn•kbZ nsrh gSa] nks vadksa dh la[;k,a gSa)
Input : quicker fives 14 28 38 wars 18 yellows

Step I : yellows quicker fives 14 28 38 wars 18

Step II : yellows 14 quicker fives 28 38 wars 18

Step III : yellows 14 wars quicker fives 28 38 18

Step IV : yellows 14 wars 18 quicker fives 28 38

Step V : yellows 14 wars 18 quicker 28 fives 38

Step V Åij Input dk vafre pj.k gSA
10. As per the rules followed in the steps above, if step II of

an input is ‘zebras 11 banks carriages 45 3028 dusks’,
how many more steps are required to complete the
rearrangement?

Åij pj.kksa esa ikyu fd, x, fu;eksa ds vuqlkj] ;fn ,d buiqV dk
pj.k II ‘zebras 11 banks carriages 45 30 28 dusks’ gS] rks
iqufoZU;kl dks iwjk djus ds fy, vkSj fdrus pj.k vko';d gSa\
(a) IV (b) VI

(c) V (d) VII

11. As per the rules followed in the above steps, what is the
position of “28” in step V of the input mentioned below?

Åij pj.kksa esa ikyu fd, fu;eksa ds vuqlkj] uhps mYys[k fd, buiqV ds
pj.k V esa “28” dh fLFkfr D;k gS\
Input : Banks carriages 11 45 30 zebras 28 dusks.

(a) fifth from left/ck,a ls ikapoka
(b) fourth from left/ck,a ls pkSFkk
(c) second from right/nk,a ls nwljk
(d) sixth from left/ck,a ls NBk

12. As per the rules followed in the above steps, if step III of
an input is “trains 22 stars 60 31 falls hards 52” then
what will be the fifth step?

Åij pj.kksa esa ikyu fd, fu;eksa ds vuqlkj] ;fn ,d buiqV dk pj.k
III gS “trains 22 stars 60 31 falls hards 52” rks ikapoka pj.k
D;k gksxk\
(a) 60 stars 22 trains 31 falls hards 52

(b) stars trains 60 22 31 falls hards 52

(c) trains 22 stars 31 hards 60 falls 52

(d) 22 stars 60 trains 31 falls hards 52

Directions (13 to 15): Study the following information
carefully and answer the given question.

When a word and number arrangement machine is given
an input string of words and numbers, it rearranges them
following a particular rule at each step. The following is an
example of the input and its reconfiguration. (All numbers are
two digit numbers)

funZs'k (13 ls 15)% fuEufyf•r tkudkjh dk è;ku ls vè;;u djsa
vkSj fn, x, ç'u dk mÙkj nsaA

,d 'kCn vkSj la[;k] O;oLFkk e'khu dks tc 'kCnksa vkSj la[;kvksa dh ,d
buiqV iafÙkQ nh tkrh gS rks og çR;sd pj.k esa ,d fo'ks"k fu;e dk vuqlj.k dj mUgsa
iqu% O;ofLFkr djrh gSA fuEufyf•r buiqV dk vkSj blds iqufoZU;kl dk ,d
mnkgj.k gSA (lHkh la[;k,a nks vad dh la[;k,a gSa)
Input : 10 ground 03 24 random unknown 19 imply 36

29 mourn enamel

Case I : enamel 03 10 ground 24 randon unknown 19
imply 36 29 mourn

Case II : enamel 03 10 ground 24 unknown 19 imply 29
mourn random 36

Case III : enamel 03 imply 19 10 ground 24 unknown 29
mourn random 36

Case IV : enamel 03 imply 19 10 ground unknown 29 mourn
24 random 36

Case V : enamel 03 imply 19 unknown 29 10 ground mourn
24 randon 36

Case VI : enamel 03 imply 19 unknown 29 ground 10 mourn
24 random 36
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Case VI is the last step of rearranging the inputs given
above.

pj.k VI Åij fn, x, buiqV dh iquO;ZoLFkk dk vafre pj.k gSA
13. According to the rules followed in the above steps, which

step number is the following output for the input given
below?

mijksÙkQ pj.kksa esa ikyu fd, x, fu;eksa ds vuqlkj] uhps fn, x, buiqV
ds fy, dkSu&lh pj.k la[;k fuEu vkmViqV gS\
Input : 05 12 bracelet travel 94 47 orange effect 68 73 urgent
kidney

“effect 05 orange 47 12 bracelet 68 73 urgent kidney

travel 94”.

(a) Case VI (b) Case IV

(c) Case V (d) Case III

14. As per the rules followed in the above steps, which
element is fourth to the left of the fifth element from the
right end in the step for the input given below?

mi;ZqÙkQ pj.kksa esa ikyu fd, x, fu;eksa ds vuqlkj] uhps fn, x, buiqV
ds fy, pj.k esa nk,a fljs ls ikaposa rRo dh ckbZ vksj dkSu&lk rRo pkSFkk
gS\
Input : 05 12 bracelet travel 94 47 orange effect 68 73
urgent kidney.

(a) 73 (b) 47

(c) orange (d) urgent

15. As per the rules followed in the above steps, what is the
product of the numbers which are fourth from the left
end and fifth from the right end in the last step for the
input given below?

mi;ZqÙkQ pj.kksa esa ikyu fd, x, fu;eksa ds vuqlkj] mu la[;kvksa dk
xq.kuiQy D;k gS] tks uhps fn, x, buiqV ds fy, vafre pj.k esa ck,a fljs
ls pkSFkh vkSj nk,a fljs ls ikapoha gSa\
Input : 05 12 bracelet travel 94 47 orange effect 68 73 urgent
kidney

(a) 365 (b) 235

(c) 564 (d) 340

Directions (16 to 18): Read the following information
carefully and answer the given question:

The following is an illustration of the input and its
reconfiguration.

funZs'k (16 ls 18)% fuEufyf•r tkudkjh dks è;ku ls i<+sa vkSj fn, x,
ç'u dk mÙkj nsa %

fuEufyf•r buiqV vkSj mlds iqufoZU;kl dk ,d fp=k.k gSA
Input : Lavani 72 Jazz 32 Bihu 51 Dandiya 43 Folk 21 Melody

35

Step I : Melody Lavani 72 Jazz 32 Bihu 51 Dandiya 43
Folk 35 21

Step II : Lavani Melody 72 Jazz Bihu 51 Dandiya 43 Folk
35 21 32

Step III : Jazz Lavani Melody 72 Bihu 51 Dandiya 43 Folk
21 32 35

Step IV : Folk Jazz Lavani Melody 72 Bihu 51 Dandiya 21
32 35 43

Step V : Dandiay Folk Jazz Lavani Melody 72 Bihu 21 32
35 4351

Step VI : Bihu Dandiya Folk Jazz Lavani Melody 21 32 35
43 51 72

Step VI is the last step of reconfiguration of the above
inputs.

Step VI  Åij fn, x, buiqV ds iqufoZU;kl dk vafre pj.k gSA

16. As per the rules applied in the above steps, which of the
following will be the input of Step IV given below?

Åij ds pj.kksa esa ykxw fd, x, fu;eksa ds vuqlkj] fuEufyf•r esa ls
dkSu&lk uhps fn, x, pj.k IV dk buiqV gksxk \
Step IV : “Pink Red White Yellow 99 Blue 81 Orange 42
57 63 75”.

(a) White 99 Red 5781 Blue Orange Pink 75 42 yellow
63

(b) White 99 57 Red Blue 81 Pink Orange 42 75 Yellow
63

(c) White 99 Red 57 Blue 81 Orange 75 Pink 42 Yellow
63

(d) r; ugha fd;k tk ldrk
17. According to the rules applied in the above steps, who

among the following will be fifth to the right of ninth
position from the right end in Step IV of the input given
below?

Åij ds pj.kksa esa ykxw fd, x, fu;eksa ds vuqlkj] fuEufyf•r esa ls
dkSu uhps fn, x, buiqV ds pj.k IV esa nk,a Nksj ls ukSosa LFkku dh nkbZa
vksj ikaposa LFkku ij gksxk\
Input : Janmashtami 95 Holi 36 Chathurh 80 Diwali
68 Dushera 12 Navratri 54

(a) 12 (b) 80

(c) 36 (d) 54

18. In the last step of input given below, three of the following
four options are alike in a way and hence form a group.
Which one is not a part of that group?

uhps fn, x, buiqV ds vafre pj.k esa] fuEufyf•r pkj esa ls rhu fodYi
,d çdkj ls ,d tSls gSa vkSj blfy, ,d lewg cukrs gSaA dkSu ,d ml
lewg dk ,d fgLlk ugha gS\
Input : Janmashtami 95 Holi 36 Chathurh 80 Diwali
68 Dushera 12 Navratri 54

(a) Chathurh 36 (b) Janmashtami 80

(c) Navratri 95 (d) Dushera 54

Directions (19 to 21): Read the following information
carefully and answer the given question.

When a word and number arrangement machine is given
input of words and numbers, it rearranges them at each step
following a particular rule. Following is an example of input and
its reconfiguration

(All numbers are two digit numbers).

funZs'k (19 ls 21)% fuEufyf•r tkudkjh dks è;ku ls i<+sa vkSj fn, x,
ç'u dk mÙkj nsaA

,d 'kCn vkSj la[;k O;oLFkk e'khu dks tc 'kCnksa vkSj la[;kvksa dk buiqV
fn;k tkrk gS] rks oks fdlh fo'ks"k fu;e dk vuqlj.k djrs gq, çR;sd pj.k esa
mudk iqufoZU;kl djrh gSA fuEufyf•r buiqV vkSj blds iqufoZU;kl dk ,d
mnkgj.k gS

(lHkh la[;k,a nks vad dh la[;k,a gSa)A
Input : home meet 74 50 36 from back 88

Case I : 88 home meet 74 50 36 from back

Case II : 88 back home meet 74 50 36 from
Case III : 88 back 74 home meet 50 36 from
Case IV : 88 back 74 from home meet 50 36

Case V : 88 back 74 from 50 home meet 36

Case VI : 88 back 74 from 50 home 36 meet

Case VI is the last step of reconfiguration of the above
inputs.

pj.k VI mijksÙkQ buiqV ds iqufoZU;kl dk vafre pj.k gSaA
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19. As per the rules followed in the above steps, which of the
following will be Case III for the input given below?

mi;ZqÙkQ pj.kksa esa ikyu fd, x, fu;eksa ds vuqlkj] uhps fn, x, buiqV
ds fy, fuEu esa ls dkSu&lk pj.k III gksxk\
Input : sugar 35 43 eggs apple 89 ink 54 29 cats

(a) 89 apple 54 cats 43 eggs sugar 35 ink 29

(b) 89 apple 54 cats sugar 35 43 eggs ink 29

(c) 89 apple sugar 35 43 eggs ink 54 29 cats

(d) 89 apple 54 sugar 35 43 eggs ink 29 cats

20. As per the rules followed in the above steps, which of the
following steps will be the last for the input given below?

mi;ZqÙkQ pj.kksa esa ikyu fd, x, fu;eksa ds vuqlkj] uhps fn, x, buiqV
ds fy, fuEu esa ls dkSu&lk pj.k vafre gksxk\
Input : sugar 35 43 eggs apple 89 ink 54 29 cats

(a) Case VI (b) Case VII

(c) Case VIII (d) Case IX

21. According to the rules followed in the above case, how
many more steps are required to complete the
rearrangement if case II of an input is:

mi;ZqÙkQ pj.kksa esa ikyu fd, x, fu;eksa ds vuqlkj] iqufoZU;kl dks iwjk djus
ds fy, vkSj fdrus pj.kksa dh vko';drk gksxh ;fn fdlh buiqV dk
pj.k II fuEu gS%
Case II : “89 apple sugar 35 43 eggs ink 54 29 cats” ?

(a) ukS (b) vkB
(c) lkr (d) nl
Directions (22 to 24): Study the following information

carefully and answer the given question:

The following is an example of input and its
reconfiguration. (All numbers are two digit numbers)

funZs'k (22 ls 24)% fuEufyf•r tkudkjh dk è;ku ls vè;;u djsa
vkSj fn, x, loky dk tokc nsa%

fuEufyf•r buiqV vkSj mlds iqufoZU;kl dk ,d mnkgj.k gSA (lHkh
la[;k,a nks vadksa dh la[;k,a gSa)
Input : Nicosberg 43 23 flemingz jones 33 goyal 63

Case 1 : 63 Nicosberg 43 23 flemingz jones 33 goyal

Case 2 : 63 flemingz Nicosberg 43 23 jones 33 goyal

Case 3 : 63 flemingz 43 Nicosberg 23 jones 33 goyal

Case 4 : 63 flemingz 43 goyal Nicosberg 23 jones 33

Case 5 : 63 flemingz 43 goyal 33 nicosberg 23 jones

Case 6 : 63 flemingz 43 goyal 33 jones nicosberg 23

Case 7 : 63 flemingz 43 goyal 33 jones 23 nicosberg

Case 7 is the last step of reconfiguration of the above
mentioned inputs.

pj.k 7 mi;ZqÙkQ buiqV ds iqufoZU;kl dk vafre pj.k gSA
22. According to the rules followed in the above steps, which

step will be the first from the last in the input given
below?

mi;ZqÙkQ pj.kksa esa ikyu fd, fu;eksa ds vuqlkj] dkSu&lk pj.k uhps fn,
x, buiqV esa vafre ls igyk gksxk\
Input : Wheelz yamanz 21 spiralz 31 11 trianglez 41

(a) 4 (b) 5

(c) 6 (d) 3

23. As per the rules followed in the above steps, how many
steps will be required to complete the rearrangement of
the inputs given below?

mi;ZqÙkQ pj.kksa esa ikyu fd, fu;eksa ds vuqlkj] uhps fn, x, buiqV ds
iqfufoZU;kl dks iwjk djus ds fy, fdrus pj.kksa dh vko';drk gksxh\

Input : Wheelz yamanz 21 spiralz 31 11 trianglez 41

(a) 5 (b) 6

(c) 4 (d) 7

24. According to the rules followed in the above steps, which
of the following case V will happen for the input given
below?

mi;ZqÙkQ pj.kksa esa ikyu fd, fu;eksa ds vuqlkj] uhps fn, x, buiqV ds
fy, fuEu esa ls dkSu&lk pj.k V gksxk\
Input : Wheelz yamanz 21 spiralz 31 11 trianglez 41

(a) 41 spiralz 21 trianglez 31 wheelz yamanz 11

(b) 41 spiralz 31 trianglez 11 wheelz yamanz 21

(c) 41 spiralz 31 trianglez 11 wheelz 21 yamanz

(d) 41 spiralz 31 trianglez 21 wheelz yamanz 11

Directions (25 to 27): Read the following information
carefully and answer the given question.

When a word and number arrangement machine is given
input of words and numbers, it rearranges them at each step
following a particular rule. The following is an example of input
and its reconfi-guration:

(All numbers are two digit numbers).

funZs'k (25 ls 27)% fuEufyf•r tkudkjh dks è;ku ls i<+sa vkSj fn,
x, ç'u dk mÙkj nsaA

,d 'kCn vkSj la[;k O;oLFkk e'khu dks tc 'kCnksa vkSj la[;kvksa dk
buiqV fn;k tkrk gS] rks oks fdlh fo'ks"k fu;e dk vuqlj.k djrs gq, çR;sd
pj.k esa mudk iqufoZU;kl djrh gSA fuEufyf•r buiqV vkSj blds iqufoZU;kl dk
,d mnkgj.k gS%

(lHkh la[;k,a nks vad dh la[;k,a gSa)
Input : 81 pupil trolly 89 centre 95 loft 64 know 93

Case I : 95 81 pupil 89 centre loft 64 know 93 trolly

Case II : 93 95 81 89 centre loft 64 know trolly pupil

Case III : 89 93 95 81 centre 64know trolly pupil loft

Case IV : 81 89 93 95 centre 64 trolly pupil loft know

Case V : 64 81 89 93 95 trolly pupil loft know centre

Case V is the last step of reconfiguration of the above
input.

pj.k V Åij fn, x, buiqV ds iqufoZU;kl dk vafre pj.k gSA
25. As per the rules followed in the above steps, which step

number is the following output for the input given below?

mi;ZqÙkQ pj.kksa esa ikyu fd, x, fu;eksa ds vuqlkj] uhps fn, x, buiqV ds
fy, dkSu&lh pj.k la[;k fuEufyf•r vkmViqV gS\
“22 25 27 18 effort 13 duty 12 all interest giver font” ?

Input: 18 effort 13 duty interest 22 25 12 giver font 27
all

(a) IV (b) II

(c) V (d) III

26. As per the rules followed in the above steps, how many
elements are there between “27” and ‘duty’ in the second
to last case for the input given below?

mijksDr pj.kksa esa ikyu fd, x, fu;eksa ds vuqlkj] uhps fn, x, buiqV ds
fy, vafre ls nwljs pj.k esa “27” vkSj ‘duty’  ds chp fdrus rRo gSa\
Input : 18 effort 13 duty interest 22 25 12 giver font 27
all

(a) 8 (b) 5

(c) 6 (d) 7

27. As per the rules followed in the above steps, how many
steps will be required to complete the arrangement for
the inputs given below?
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mi;ZqÙkQ pj.kksa esa ikyu fd, x, fu;eksa ds vuqlkj] uhps fn, x, buiqV
ds fy, O;oLFkk dks iwjk djus ds fy, fdrus pj.kksa dh vko';drk
gksxh\
Input : 18 effort 13 duty interest 22 25 12 giver font
27 all

(a) 7 (b) 6

(c) 5 (d) 8

Directions (28 to 30): Read the following information
carefully and answer the given questions:

Following is an example of the input and its
reconfiguration.

funZs'k (28 ls 30)% fuEufyf•r tkudkfj;ksa dks è;ku ls i<+s vkSj
fn, x, lokyksa ds tokc nsa%

fuEufyf•r] buiqV vkSj mlds iqufoZU;kl dk ,d mnkgj.k gSA
Input : day case 20 13 now for 49 56

Case I : case day 20 13 now for 49 56

Case II : case 13 day 20 now for 49 56

Case III : case 13 day 20 for now 49 56

Case IV : case 13 day 20 for 49 now 56

Case IV is the last step of reconfiguration of the above
inputs.

pj.k IV Åij fn, x, buiqV ds iqufoZU;kl dk vafre pj.k gSA
28. According to the rules followed in the above steps, find

out how many words will be between “12” and 21 in
Step IV of the input given below?

Åij fn, x, pj.kksa esa ikyu fd;s fu;eksa ds vuqlkj] irk djsa fd uhps
fn, x, buiqV ds pj.k IV esa ¶12¸ vkSj 21 ds chp ds fdrus 'kCn
gksaxs\

Input : yes 21 far 32 17 12 wide goal

(a) 4 (b) 3

(c) 2 (d) 1

29. According to the rules followed in the steps given above,
find out how many steps are required to complete the
input given below?

Åij fn, x, pj.kksa esa ikyu fd;s fu;eksa ds vuqlkj] irk djsa fd uhps
fn, x, buiqV dks iwjk djus ds fy, fdrus pj.k dh vko';drk gksxh\
Input : yes 21 far 32 17 12 wide goal

(a) V (b) VI

(c) II (d) III

30. As per the rules followed in the above steps, if the Case
V of an input

Åij fn, x, pj.kksa esa ikyu fd;s x, fu;eksa ds vuqlkj] vxj ,d buiqV
dk pj.k V
far 12 goal 17 wide yes 21 32, then which of the following
will definitely be Case VI?

far 12 goal 17 wide yes 21 32 gS
rks fuEufyf•r esa ls dkSu fuf'pr rkSj ij pj.k VI gksxk\
(a) far 12 yes 21 32 17 wide goal

(b) far 12 goal 17 wide 21 yes 32

(c) far 12 goal 17 wide yes 21 32

(d) far 12 goal 17 wide 21 32 yes

Answer-Key

1. (b) 2. (d) 3. (c) 4. (d) 5. (d) 6. (d) 7. (a) 8. (b) 9. (a) 10. (a)

11. (b) 12. (c) 13. (d) 14. (b) 15. (c) 16. (d) 17. (a) 18. (a) 19. (d) 20. (d)

21. (c) 22. (b) 23. (b) 24. (d) 25. (d) 26. (c) 27. (b) 28. (b) 29. (b) 30. (b)
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1. (b) Input: Near 55 pound 85 15 Tallest 01 push gold 42
Step-I: gold near 55 pound 85 15 Tallest 01 push 42
Step-II: gold 01 near 55 pound 85 15 Tallest push
42
Step-III: gold 01 near 15 55 pound 85 Tallest push
42
Step-IV: gold 01 near 15 pound 55 85 Tallest push
42
Step-V: gold 01 near 15 pound 42 55 85 Tallest push
Step-VI: gold 01 near 15 pound 42 push 55 85 Tallest
Step-VII: gold 01 near 15 pound 42 push 55 Tallest

85

fn, x, Input dk step-IV fuEu gS&
gold 01 near 15 pound 55 85 tallest push 42

vr% Option (b) lgh Answer gksxkA
2. (d) mi;ZqÙkQ ls Clear gS fd fn, x, Input ls Seven steps dk

fuekZ.k gqvk gSA blfy, nh xbZ Input ds fy, iqufuZekZ.k dks
complete djus ds fy, seven steps dh vko';drk gksxhA

3. (c) fn, x, Input dk fifth step fuEu gS&

  
Left Right

mi;qZDr ls Clear gS fd left ls sixth place dk number 42 gSA
vr% Option (c) lgh Answer gSA

4. (d) Question no. 23 ls 25 ds fy, fn, x, Input dk Output

fuEu steps esa çkIr gksxkA
Input: Zebra 8 Elephant Rabbit 5 9 Crocodile 6
Step-I: Crocodile Zebra 8 Elephant Rabbit 5 9 6
Step-II : Crocodile 9 Zebra 8 Elephant Rabbit 5 6
Step-III: Crocodile 9 Elephant Zebra 8 Rabbit 5 6
Step-IV: Crocodile 9 Elephant 8 Zebra Rabbit 5 6
Step-V: Crocodile 9 Elephant 8 Rabbit Zebra 5 6

Step-VI: Crocodile 9 Elephant 8 Rabbit 6 Zebra 5

fn, x, Input dk Output mi;ZqÙkQ six steps esa çkIr gSA
Input dk iqufoZU;kl six steps esa çkIr gksxkA
vr% Option (d) lgh Answer gSA

5. (d) fn, x, Input dk step-V fuEu gS&
Crocodile 9 Elephant 8 Rabbit Zebra 5 6

blfy, right fljs ls 4th word Rabbit gksxkA
vr% Option (d) lgh Answer gSA

6. (d) fn, x, Input dk step-II fuEu gS&
Crocodile 9 Zebra 8 Elephant Rabbit 56

vr% Option (d) lgh Answer gSA
7. (a) fn, x, Input dk fuEufyf•r steps esa Output çkIr gksxk&

Input-92 46 Cake All best 35 81 beauty 24 length
Step-I: Length 92 46 Cake All best 35 81 beauty 24
Step-II: Length 46 Cake All best 35 81 beauty 24 92
Step-III: Length Cake 46 All best 35 81 beauty 24 92
Step-IV: Length Cake 46 All best 35 beauty 24 81 92
Step-V: Length Cake best 46 All 35 beauty 24 81 92
Step-VI: Length Cake best All 35 beauty 24 46 81 92
Step-VII: Length Cake best beauty All 35 24 46 81
92
Step-VIII: Length Cake best beauty All 24 35 46 81
92

fn, x, Input dk Output Eight steps  esa çkIr gksxk tks
mi;ZqÙkQ gy gSA
vr% Option (a) lgh Answer gSA

8. (b) fn, x, Input dk step-VII fuEu gS&
Length Cake best beauty All 35 24 46 81 92

Left ls NBk 35 vk,xkA
vr% Option (b) lgh Answer gSA

9. (a) fn, x, Input dk step-VIII fuEu gS&
Length Cake Best Beauty All 24 35 46 81 92

vr% Option (a) lgh Answer gSA
10. (a) Step II: Zebras 11 banks carriages 45 30 28 dusks

Step III: Zebras 11 dusks banks carriages 45 30 28
Step IV : Zebras 11 dusks 28 banks carriages 45 30
Step V: Zebras 11 dusks 28 carriages banks 45 30
Step VI: Zebras 11 dusks 28 carriages 30 banks 45

vr% fu;ekuqlkj Input  dks complete djus ds fy, four vkSj
steps dh vko';drk gksxhA

11. (b) Question&5 dh O;k[;k ls clear gS fd step-V esa 28 dh
fLFkfr left ls 4th gSA

12. (c) Step III: trains 22 stars 60 31 falls hards 52
Step-IV: trains 22 stars 31 60 falls hards 52
Step-V: trains 22 stars 31 hards 60 falls 52

vr% mijksÙkQ Input ls clear gS fd fifth step, trains 22

stars 31 hards 60 falls 52 gksxkA
13. (d) Input : 05 12 bracelet travel 94 47 orange effect 68

73 urgent kidney.

fn, x, input esa Loj vkSj fo"ke la[;k ck,a rFkk O;atu vkSj
lela[;k nk,a Nksj ij gksxsaA
Step I: effect 05 12 bracelet travel 94 47 orange 68
73 urgent kidney
Step II : effect 05 12 bracelet 47 orange 68 73 urgent
kidney travel 94
Step III: effect 05 orange 47 12 bracelet 68 73 urgent
kidney travel 94
Step IV: effect 05 orange 47 12 bracelet 73 urgent
kidney 68 travel 94
Step V: effect 05 orange 47 urgent 73 12 bracelet
kidney 68 travel 94
Step VI: effect 05 orange 47 urgent 73 bracelet 12
kidney 68 travel 94

fn;k x;k input ds pj.k -"effect 05 orange 47 12 bracelet

68 73 urgent kidney travel 94"

tks pj.k III esa fn;k x;k gSA vr% fodYi (d) lgh mÙkj gSA
14. (b) fn, x, input dk pj.k V fuEu gS&

effect 05 orangle 47 urgent 73 12 bracelet kidney 68

travel 94

vr% Li"V gS fd nk,a fljs ls ikapoka rRo bracelet gS ftlds ck,a
ls pkSFkk rRo 47 gSA vr% fodYi (b) lgh mÙkj gSA

15. (c) fn, x, input dk vafre pj.k fuEu gS&
effect 05 orange 47 urgent 73 bracelet 12 kidney 68

travel 94

Li"V gS fd ck,a fljs ls pkSFkk rRo = 47

nk,a fljs ls ikapoka rRo = 12

blfy, pkSFkk × ikapoka = 47 × 12

= 564

16. (d) pawfd Step ls Input dk fuèkkZfjr djuk possible ugha gSA
vr% Option (d) lgh Answer gSA

17. (a) Input- Janmashtami 95 Holi 36 Chathurh 80 Diwali
68 Dushera 12 Navratri 54
Step-I: Navratri Janmashtami 95 Holi 36 Chathurh 80
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Diwali 68 Dushera 54 12
Step-II: Janmashtami Navratri 95 Holi Chathurh 80
Diwali 68 Dushera 54 12 36
Step-III: Holi Janmashtami Navratri 95 Chathurh 80
Diwali 68 Dushera 12 36 54
Step-IV: Dushera Holi Janmashtami Navratri 95
Chathurh 80 Diwali 12 36 54 68
Step-V: Diwali Dushera Holi Janmashtami Navratri
95 Chathurh 12 36 54 68 80
Step-VI: Chathurh Diwali Dushera Holi Janmashtami

Navratri 12 36 54 68 80 95

pwafd Input ls çR;sd Step esa Dictionary ds According]
lcls Last vkus okyk Word rFkk la[;k Øe esa lcls igys vkus
okyk Number dks arrange djrs gq, other steps cuk, tk jgs
gSaA mlh according Øe O;ofLFkr djus ij step-IV: Dushera Holi

Janmashtami, Navratri, 95, Chathurh, 80, Diwali,

12, 36,54, 80  gSA
iz'ukuqlkj Right Nksj ls 9th place Navratri ds Right vksj ls
5th place ij 12 gksxkA
vr% Option (a) lgh Answer gSA

18. (a) mi;ZqÙkQ Question ls steps dk vuqikyu djrs gq, Input dks
O;ofLFkr djus ij option (a) esa Chathurh rFkk 36 ds eè; 6
LFkkuksa dk varj gS] tcfd other lHkh Option esa dsoy 5 dk varj
gSA
vr% Option (a) vU; ls different gSA

19. (d) Input: sugar 35 43 eggs apple 89 ink 54 29 cats
Step-I: 89 sugar 35 43 eggs apple ink 54 29 cats
Step-II: 89 apple sugar 35 43 eggs ink 54 29 cats
Step-III: 89 apple 54 sugar 35 43 eggs ink 29 cats

vr% fn, x, Input ds fy, Option (d) lgh Answer gSA
20. (d) Input: Sugar 35 43 eggs apple 89 ink 54 29 cats

Step-I: 89 sugar 35 43 eggs apple ink 54 29 cats
Step-II: 89 apple sugar 35 43 eggs ink 54 29 cats
Step-III: 89 apple 54 sugar 35 43 eggs ink 29 cats
Step-IV: 89 apple 54 cats sugar 35 43 eggs ink 29
Step-V: 89 apple 54 cats 43 sugar 35 eggs ink 29
Step-VI: 89 apple 54 cats 43 eggs sugar 35 ink 29
Step-VII: 89 apple 54 cats 43 eggs 35 sugar ink 29
Step-VIII: 89 apple 54 cats 43 eggs 35 ink sugar 29
Step-IX: 89 apple 54 cats 43 eggs 35 ink 29 sugar

fn, x, Input ds fy, step-IX last step gksxkA
vr% Option (d) lgh Answer gSA

21. (c) Input: Sugar 35 43 eggs apple 89 ink 54 29 cats
Step-I: 89 sugar 35 43 eggs apple ink 54 29 cats
Step-II: 89 apple sugar 35 43 eggs ink 54 29 cats
Step-III: 89 apple 54 sugar 35 43 eggs ink 29 cats
Step-IV: 89 apple 54 cats sugar 35 43 eggs ink 29
Step-V: 89 apple 54 cats 43 sugar 35 eggs ink 29
Step-VI: 89 apple 54 cats 43 eggs sugar 35 ink 29
Step-VII: 89 apple 54 cats 43 eggs 35 sugar ink 29
Step-VIII: 89 apple 54 cats 43 eggs 35 ink sugar 29
Step-IX: 89 apple 54 cats 43 eggs 35 ink 29 sugar

Step-II ds ckn iqufoZU;kl dks complete djus ds fy, total

seven steps dh vko';drk gksxhA
vr% Option (c)  lgh Answer gSA

22. (b) fn, x, Input dk Output izkIr djus ds fy, fuEu steps gksxsaA
Input-Wheelz yamanz 21 spiralz 31 11 trianglez 41

Step-I: 41 Wheelz yamanz 21 spiralz 31 11 trianglez
Step-II: 41 spiralz wheelz yamanz 21 31 11 trianglez
Step-III: 41 spiralz 31 wheelz yamanz 21 11 trianglez
Step-IV: 41 spiralz 31 trianglez wheelz yamanz 2111
Step-V: 41 spiralz 31 trianglez 21 wheelz yamanz 11

Step-VI: 41 spiralz 31 trianglez 21 wheelz 11 yamanz

fn, x, Input dk Last step 'VI' gS blls igys ,d step V

gksxkA
vr% Option (b) lgh Answer gSA

23. (b) fn, x, Input dk Output izkIr djus ds fy, total six steps

dh vko';drk gksxhA
vr% Option (b) lgh Answer gSA

24. (d) fn, x, Input dk step V fuEu gS
41 spiralz 31 trianglez 21 wheelz yamanz 11

vr% Option (d) lgh Answer gSA
25. (d) Input: 18 effort 13 duty interest 22 25 12 giver font

27 all
Step I: 27 18 effort 13 duty 22 25 12 giver font all
interest
Step II: 25 27 18 effort 13 duty 22 12 font all interest
giver
Step III: 22 25 27 18 effort 13 duty 12 all interest giver
font
Step IV: 18 22 25 27 13 duty 12 all interest giver
font effort
Step V: 13 18 22 25 27 12 all interest giver font effort
duty
Step VI:12 13 18 22 25 27 interest giver font effort

duty all vr% fn, x, input ds fy,] pj.k&III dk output

fn;k gSA
26. (c) mi;qZDr ls Li"V gS fd var ls nwljs pj.k esa '27' vkSj duty ds chp

N% (6) rRo gSA
27. (b) vr% fn, x, input ds fy, O;oLFkk dks iwjk djus ds fy, N% (6)

pj.kksa dh vko';drk gksxhA
28. (b) fn, x, Input dk Last step VI gSA

Input: Yes 21 far 32 17 12 wide goal.

Step-I: Far yes 21 32 17 12 wide goal.
Step-II: Far 12 yes 21 32 17 wide goal.
Step-III: Far 12 goal yes 21 32 17 wide.
Step-IV: Far 12 goal 17 yes 21 32 wide.
Step-V: Far 12 goal 17 wide yes 21 32.

Step-VI: Far 12 goal 17 wide 21 yes 32.

blfy, step-IV “Far 12 goal 17 yes 21 32 wide” esa 12

vkSj 21 ds eè; 3 word ‘goal, 17, yes’ gSA
vr% Option (b) lgh Answer gSA

29. (b) mi;qZDr Question 32 dh O;k[;k ls Clear gS fd Input ds
fy, vko';d step-VI gksxkA
vr% Option (b) lgh Answer gSA

30. (b) fn, x, Input dk step-V ‘far 12 goal 17 wide, yes 21

32’ gS] rks step-VI ‘far 12 goal 17 wide 21 yes 32’ gksxkA
vr% Option (b) lgh Answer gSA


